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White Board

SI3¢C )
4/]11 AABC, /A4 1s a nght angle. BP and CQ 1s are two medians. — - Zl (@P +LQ-
Prove that, SBC? = 4(BP? + CQ%)
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White Board

In figure, if OB €4 }m

find the length of a.n
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White Board

10. In AABC, AD is the perpendicular to BC and AB>AC. Prove that

AB® - AC* = BD® - CD?. T
Y b . ~
A App — Ay ki - D
I : e A A = AS
p AB® - AVED D poe_gpt: A cf
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What will we learn from 4.1 ?
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= Algebrajc formulae
= NN\

~£
CYs

The first four formulae and the corollaries related to them have been elaboratelyy 4 |,
discussed in class VII. Here, those are repeated.
The geometric explanation of (a+ l:u]l2 is as follows:

The area of the whole square = (a + b) x (a + b) = (a + b)* (—\_/\
L@+ b)l=ax(@a+b)+bx(a+bh) oat *—b
(‘=a2+ab+ab+b2
=d +2ab + b al & ab
Again, the sum of the areas of the parts of the square ash
axat+axb+bxa+bxbe o —>e_1by
b

=a* +ab+ab+ b T"__‘”/’ I

=a* +2ab + b’ 0&@ @

Qaub)?' Ohtoptob+b6= L1 b

{,irgm@ +24b+b> | i@ %@ .
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Algebraic formulae
b\

In class VII, Formulae and corollary, which we have known, are as follows:
Formula 1. (a+b) =a® +2ab+ 8

In words, the square of the sum of two quantities = the square of first quantity +
2 x first quantity x second quantity + the square of second quantity.

Formula 2. (a-b)’ =a?-2ab+8 .

In/words, the square of the difference 9,f two quantities = the square of first
. ) i / .
quanti -2 first quantity x second’ quantity +the square of second quantity.

Formula 3. -5 =(a+b)(a-b)

In words, the difference of squares of two quantities = the sum of two quantities x

the difference of two quantities. Q( +0) (L \‘\; - )L'L.r ol + ot ob
Formula 4.{x+a)(x+b) = x’+{a+b}x+§bj v ) 3 - R2 -\—‘KU"'\'\S N>

In words, if the first terms of two binomial expressions are the same, their
product will be equal to the sum of square of the first term, product of the first
term with the sum of their second terms with their usual signs and product of the
second two terms with their usual signs. That is, (x + a) (x + b) = x>+ (algebraic
sum of a and b) x + (product of aand b ).
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Algebraic formulae

Corollary 1.
Corollary 2.
Corollary 3.
Corollary 4.
Corollary 5.
Corollary 6.

N W

2 4
&+ b= (a+by—2ab —> &t
Co %4 2015 45 =2}y

@ + b= (a— b)*+ 2ab e
(a+ b)y=(a—- b)Y+ 4ab

(a— b)*=(a+ b)*— 4ab
2+ b) = (a +b)+ (a— by
4ab = (a+ by — (a— by
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Mathematical problems
b P

U Find the square of 3x + 5y.
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b
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Mathematical problems
b P

U Find the square of 4x — 7y.
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POLL

Find the square of x+2y ?
[Dhaka Board

a)x? + 2xy + y? éﬁ Z“Z)fL
ML+ by + 4y} _ AT 4 2w ?% Nk

c) x% + 2xy + 4y?

d) x2 + xy + y?
) yry R AL L{MC}rL’fL’
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Mathematical problems
b P

—

Q ifa—b=7 and ab = 60 , find the value of @ + p? .
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Mathematical problems
b P

- Oifx —%: 5 ,find the value of (x +§)2 : Eé"’_l-))q—: (a-b)z_m
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POLL

atip- - (a-b) +20b

If@?> — 1 = 5q),what is the value of a? +
1 —
; ? [Ctg B-16]

A)21 B)23 .
€)25 7 Gt ar
g— \ \L l
(6-2) + 24 %
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Mathematical problems
b P

Q Multiply $m)+@)by @+ ?by an appropriate formula .
i oz v

("t bu—b> = AT+ (ath)rt+ab

En+0(5n+9) - @m)i +(81®) 7 4 g9

2 25m™+ (17 3)M t + 2

= 284 +QSm +3°_ -\
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Mathematical problems
b P

O Express (x + 6)(x + 4) as the difference of two
squares
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POLL

If x+y=6 and x-y=4 , 4xy="?

[D.B.-15]
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Mathematical problems
b\

3 Geometric explanation of (a + b + ¢)? :
STach Sde - atbte
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Mathematical problems
b\

Q Find the square of 2x + 3y + 5z .
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POLL

a+b-C
What is the square of a+b-c?
Q. -
[ctg. B.-16] T bt 9
L 02 157+ (-Q 20>+ 2600 £A-94
aJa +b° +c = C’*‘L"'\al\.'l' L +24b-2bC -LCon
b) a® + b? — c? + 2ab — 2bc — 2ca

c)a® + b? + ¢? — 2ab — 2bc — 2ca

ﬂaz +b*&c? + 2ab — 2bc — 2ca




Mathematical problems
b\

*Simplify:- (x +¥)?2 +2(x + y)(x —y) + (x — y)?
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Mathematical problems
b\

Gl‘rbq' = CO\‘HD)’L - 280

1 ; !
If a+;=4,whansthe value of a'+ 7 ?
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Mathematical problems
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8. If@m, show that a“+§;=m‘+4mz+2 A th (c';)) Tla
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If@4 ,what is the value of (x + l)’\2?
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